STEPD ! Aoy SuesTrurE STEP Y1 prew pLug 7HEsE

| }/ = x°
- =X -Sk+79 THS Rom
laTe THE oTHeA VALES
'-lX'-)’ = E@wron S?";o JEQMMF
p=x>-5c43 =) =7

F:LJK'!? J=uK-

y=HG)-13 y= (7)1

STE? | Staw wy EquaThay
WATH SmaLesT Portts Aap

Yx-1y =X "-sK2
STEP 3! My SolVE

SOLE Fal opg o e
Vﬂﬁms O = X2=-sK-Yx 42 +1? )’= &—13 yt 28-19
L{X:Z =1 _ O< )(-’_ﬁx.p“); y': -4 (ﬁ:;(g
Q= (x- -
X2y & X(;( 315;)0 @ %
A=2 X=77
9 - y': X‘a_ax_*"‘[ S o
— ue - U 3, XPHP=20 SoK°-8K ~93 =0
y — XX 43 3‘(_: l ‘H('-,Vz'D ASK° -yl ~]] =O K IE
® y= CHX 43 ® x=1 © 2 25 (osx+ X = |) =0
— ' = ~1=0
&) i3] g=xP4K+3 IX-3=y 3;:;"4‘” =1 I
- = 3-!-“ '\‘_3 P i_ Xv
KA = XY f= ) X4y =00 K=
ORER SN S =S P+ (xn) =20 ®© Py
\ » - = Js —_—
XTI (13) X4 Gx-aX7x-2) =06 y-w-3
Ux = |¢% )

=S
((lﬁ) )

XY=7
f X+ Y o
@ )(r'-a X
-2 ? 4 )= X
/g% 2 X(R) 4)6’(:)(_3)—3[,\/3)
y-;-ax- Xq +L‘{ :33
@ W4 Ta =5 X-s> =
ul “
u?-Sy $y=P
) (u-t Ju-y)=0 %
- ~Y=0 - -
u-lto y-Yy ?.:_,a y-a y=-I 7= 1

-1,3) (h3) Ca1) (1)



